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D0000¢i(2,y) < @ofz,y) (z,y) €D)OOOQO
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ooooo®ooools

w(Q) = ///ldzdde—// vz, y) — p1(x,y)) d:tdy—//$—x — ) dx dy
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fQ—-ROOOD0O0ODOO0OO0Of000 wOOOOO (weighted mean, weighted average)
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0oo m—>ooDDDD{ f+(a:)dx} { f_(:z:)dx} 0000000000
Km meN Km meN

17100000004, f 0 QO00000000000O000000000 f=f,—f
0 QOD0000000000.

0000000 1.7.1000000000000000000 (00000000000
00000000000000)00000000000000000000

00 1.7.3(0000) Q, N, f0O (Al),(AQ),(AS)DDDDDDDDDDD/f(a:)da:
Q
0000000000 [f|0Q000000000000000000

00 00 1720 o=|f|000000000O0OOOOOOOOOO

00 1.7.1(000000000000000000) Q, N, f0O (Al), (A2), (A3) 00
ooooooo /f(:r)da:DDDDDDDDDDDDDD f0QOOo0O0O0O0O0oO0ooon
Q

o0 175 000000000000 0000DO0D00 ==00000000000000
gbobogooboboobboobboobobbuoobooboobobboobbooobo
gbobbuoooobbbooobbbuooobobbbuddl m

00 1.76 (0OO0O0OO0OOOU0OOOOOODOOOOOOOOD)0D0O0O0ODOOOOOOOO
0000000000000000000000000000000000000@O0O0d
gobbobooodgbmoogobobuooooobobouooooobobooboobo
00000000 ) m

60



o0 177 fOO0000O0ODOCOODOOO QOO f>000000D0O00DDODODOO =
00000 (000000)D000000 (0000000)DoDooooooooooooo
0000000000000000000000 =00000(0000ooO0)ooooooo
(0ODOO000U00D0D00DDOO0OC0OOO00U0U0D0DO0DDOCOOO0O00OUDoDOooODooOoOoOd
0000000000000 0000000000000000 ) m

DDIJB[H]/ |f(z)| dz (m=1,2,3,---)00000000000000000000
Km
00000000000000

dM € Rs.t. Vm €N |f(z)] de < M.
Km

O000000000%0

1.75 0OOO0OO0OOOOO

gbobobuoooobbbooobboboooobood
gbobobooooobboooooboo
gooo
gbooboogooboood

gboboboooobbbuoooobbooognooobogb

.00 O N, fOO00D0OC0OO0ODOOOODOOOOOOO
(Q0 fO00000000O0ODODODODfOOO0OO0OO0O0OOOOOOOOOOOOOOOO
0000000000 NOOOOLebesgueOOOOOOOOOOOODODO)

2. f000000 (DOD0D0ODD0 ODOOOODOOODOUOOD OOD)UDODDDOODOODOOOO
obobobobboboobooboobuoobooboon

(a) Q\NODOOO {Knlmen 0 (00000000O00O00O00O00)000000
|f(z)[dz 00000000000000

Km

(b OOOOOOO0O0OOOOOOO0O0OOOOOO0ODOOOOOOOOOOOOOO
0000000000 |fI<eDOO0OO goDD/ p(x)dz 0000000O0ODO

Dooo0oooQ "

3.Q\NODOOO {Knlmen 0000000 (r)de 0000D0O0000000OO
Km
000000000000000000

»O00o0000000000000000000000000

61



0178 (000000O0ODO) 0000

, / / dz dy
w242<1 /22 + 2
1

000000002 ={(z,y);2*+y* <1}, f(z,y) = N={0,0}000800 f>0

gooddoooobbbbboooooooooo
K ={(z,y);1/m* <2 +y* <1}
00000 {Knlmewn 0 Q\NODODODOOOOODO
x=rcosh, y=rsingd (r>0,0¢€]0,2n))
goobh K, O0ODOooooo
Dy, ={(r,0);1/m<r<1, 6€[0,2r)}

gbooooodgn

2w 1
/ f(a:,y)dxdy:// 1-7“(17"6[9:/ d@/ dr:27r(1—i>—>27r (m — 00).
Km Dm T 0 1/m m

000 I =27 m

0179 (0000000000ODOOOOO) ODDOOO

Y
——dxd
//12+y2<1 x? + y2 Y

gbbboooobbbouoobboboooobbobuoooobn

Y|
— _dxd
//12+y2<1 x? + y2 Y

000000000 (000000000000 00000000000 K, = {1/m? <
+¢y*<1}0000

in 0
// %dwdyz// |”1§ | drd6 = 41— 1/m) < 4
w Tty 1m<r<ige02r) T

obobooboboobobobooboobobobobooo oo oobobbobOoobo
00 m

0 1.7.10(DDDDDDDD)aDDDDDDDDDDDDDDD
dx dy
I= (2 1 .2\
z24+y2>1 (Z’ +y)a

62



1

DDDDDDQ: Z, ,$2+ 2>]_7 x, =,

{(z,y) y* =1}, flz,y) CEYRL
00000000000000000000000

N=¢(0DOD)oooo f>0

K= {(z,y);1 < 2% +y* < m?}
O0000{Knlnen 0 QOOO0O0O0O0O0O0O0OO
x=rcosh, y=rsing (r>0,0¢€l0,2n))
ooodd K, 0oooooo
D, ={(r,0);1<r<m, §€0,2m)}
gooooogo

1 27 m
/ flz,y) dedy = // T-rdrd&:/ de/ Fl=2a g,
Ky, mra 0 L
) 1™ 2(1—«

21— -1

— 21 x {2(1—00]1 = Si—a (27D
[logr]}* =logm (1-2a=-1)
T (@a>1)
{ 00 (a<1) ( )

000 o>100000000000000 n/(e—1),0<a<100000000000
U0 m

01.711 (0 0000000000000 DO0OCO0O0O0O000OODO OK) ODDoOoO

1
I = dx d
//xz+yz>1 Aty
DDDDDDDDDDDDDD{Km}DDDDDDDKmDDDDDDDDDDDDDDDD
gopoogogbooogpboooggoogogoo

1 1 1
< =
1.4 + 2$2y2 + y4 + 1’2 + 1 — 1'4 + 2:U2y2 + y4 (372 + y2)2

———dzd
//x2+y2>1 CC +y) Y

0000000000000000 (000000000)0D/ 000000000000 =

gbobobodgo

0 1.7.12 (0000) 00000000%00000000

> 2
/ e " dx
0

%00 m,00 200000000000 f(z) =
000 10000000000000000

1 _
ﬁﬁﬁmpPugﬁ}DDDDDDDDRDDDDD

63



obooboobon

2

Q:{(:E’y) €R2,$20’y20}, f([p’y)ze—wZ—y

oooo
/ f(x,y)dx dy
Q

000000000 QU000 {K,}, {C,}00000:
Kn: [O,?’L] X [O,R], Cn:{(%y);ZEZO,yEOJSz‘FyQ §n2}

0d fD c,o00o0oooa
/ fla,y)dody = (1 —e) = 2
o 4 4

fzo000O0oOooOooDOoD fO QODODODODOOOOOOODODODO

n 2
= lim f(z,y) dedy = lim (/ e dx) )
n—oo n—oo 0

Knp

goo

1.76 UU00O0O0OoooOoOO

googbbooboobobboobuoobboboobooobuoobbooboboobo
0000000 0000000 BO (DOODDODDODOODOOOOO)00000O0O0O0OO0
goboboogobbbuoooobobboooobobobuoooobbbooo

(0ODODOCOO0OC0O0O0O0OU0U0 10000 oDooooDooDoDoOOOOOOOoOOOo-
0000000000000 00000000OOO0o0ooooooooD)

4 N
00 1.7.3 (000000000000 0O0O)
(1.10) I = / e *r*tdr (s€R),
1
1
(1.11) J = /emx51 dr (s>0)
0
gobboboogoobboboooobo )

o0 O0ob/7/0b0o00od

-, .5— M
e x 1§ﬁ (x €[1,00))

O00 MeROOODODODOOOOOODDOOOODOO
[1,00) D 2+ e “z**!

64



oobooboooobobogobooooboooooboobooooobo Joooboooboo
ooo

e "t <2t (z€(0,1))

O0000s—-1>-10000000 25710 (0,1)]000000000000O00O JOOOO
gobobDd m

00 174 (00000000000000) p>0,¢>00000000000000
00000000000
1/2
(1.12) I = / P71 — 2)T ! da,
0
1
(1.13) J = / (1 — 2)7" da
1/2
\ J
00 OO0

P71 —2) <Pt (2 € (0,1/2]),
1/2
/ P rdr <o (Cp—1>-1)
0
gooboo /goooboboooon
(1)t < (1-2)T (z€(1/2,1)

gbbdt=1-2 000000000000

1 1/2
/ (1—gz)! dx:/ t7ldr <o (g—1>-1)
1/2 0

oboobo0O JooboobodD m

~
00 1.7.4 (00000,00000) (1) I': (0,00) = RO
def. oo_x s—1
(1.14) F(s):/ e a* da
0
guodooooooobbbobood
(2) B: (0,00) x (0,00) = R O
aer. |
(1.15) B(p, q) é/xpl(l—x)ql dx
0
guoooooooooobobobod y

65



00 171 (00000,00000000) 00000 I,00000 BOOOOOO
0o (1)-(5) 000000

(1) I'(s+1)=sI(s) (s >0).
(2) I'(1) =1.

(3) I'(1/2) = V7.

w/2
(4) B(p,q) = 2/ sin®1 0 cos® 19 df  (p,q > 0).
0

(5) (000000000) Blpg) = L2L@ o)

\_ )
00 00000000000G)000000 E={(zs,y);z>0,y>0}00000

I'(p)I'(q) :/ e TPl dx/ e Yyt dy = / e VP ly ™l da dy.
0 0 E

goo

goooooon

0000 FrO0OO0OOO0O
D ={(u,v);u>0,0<v<1}

gboobooodgn

I'(p)l(q) = / /D e tuP T P — 0)7 dudv

0 1

= / e tyPta! du/ 1 =) do
0 0

= I'(p+q)B(p.q)m

00 1.7.9 (1) 0000000
I'n)=(n-1)! (neN)

0000000000oooooooO0o0o0o0oooooooopoooo0 I'm+1/2) 000
ggbobbooogbobbodo

66



(2) 00O

/2 w/2
/ 0 a9 = 5 B ("53] / cosm0do =~ ("1
0 2 2 2 0 2 2 2

(3) 0000000000000 0D00oOoOOOOOoOoOOO

goon

01713 (n000000)ee R, R>0000000¢00000000 RO (0)O
Q={reR"|r—a|<R}0nO0 Jordan 00 p(Q) 0000000000

M(Q):/de

goboboddd e=000000000000On00D0O00000

Ty = rcosb

T9 = 7rsinf; cosby

r3 = rsinf sin by cos O3

x; = rsinfsinfysinfs---sinf;,_ycosf; (2<i<n-—1)
Tpo1 = rsinf;sinfysinbs---sinb,,_ocosb,_;

T, = rsinf;sinfysinfbs---sinf,_osinf,_q,

0000000000
r>0, 6;€[0,7] 1<i<n-—2), 6,€][0,27)

oodooooooo
a(x17$27"' y LT

)
8(7",01,"' 7071—1)
ooooQOoOooooooo

n—2
=pnt | | sin” "1 g,
i=1

D = {(7“,91,"' ,enfg,enfl);OSTSR, 91'6 [077?] (1§Z§7’L—2), anl S [O,QW)}

n—2
p€) = / / / (r”_IHsin”_i_IQi> drdt, - - - df,
D i=1
R n—2 P o
= " Ldr / sin" "1 0, db; / db,,_
/O H 0 0 !
TR Y2 [T
= H / Sinniii1 HZ d@z
[ER——

67

gbooooo




0ob 171000000

" 1 I(p)I(q)
sin?? '@ cos’ 1 0di = =B(p, q) = ———=
A bkl 2I'(p + q)

0o
{41 1
cu0
/sinéﬁdG— 73
| ()
2
ooooon
1 n—2
ﬁ/ﬁsinn‘i‘le o F<§) P o
- 0 — —
riz )
oo
,/TkRQk
27Tn/2Rn Wn/QRn Ll (n:2k,]{7€NDDD)
v o 2k7Tk—1R2k—1
F(Q) F<2+1> w (n=2k—-1,keNOOD).

n=1000 puQ)=2R,n=2000 pQ) =7R*n=3000 uQ) =4rR*/30000
gdoddddd m

00 171 (00000000O0ODO...) 0000000000 DODOO0OD0OOODOOOOOO
gboogobuogbbodgboouogbobuoobbogboboboobboobboooboo
ooooo

D000 2l 0000000D0DO00000O0

.4 24(n=2)n (n0ODODOD)
1 1-3----(n—2)-n (nODDOOD).

n=2k(k0000)0000 nll= k=272, 000000
V,:={reR"Jz/<R}000 0000,>20000000000

R n—=2 g ' 2w o2 R" n—2  .r/2 A
Vo = / r"tdr - H/ sin’ 6 d6 - / do = . Qn—2 H/ sin’ 6 df.
0 =1 0 0 n j=170

/2
DDDnZODDDD[n::/ sin"fdg 0000
0

In:n—l

Lo (n22), L=3, hL=L

68



000002000

|:| |:| In—IIn -

b
S | e

gdoodg )
Fon=Fy Iy l,=F, -~ = F=1 F=1
2 n

gbobobooogon

Fy, = (g>k_l ' ﬁ - (%)H (k —1 1)’

m\ k-1 1
Forrr = (E) 2k — 1)

B n—lr Rn
N n

Va -F, 00000

22k_17TR2k T k-1 1 7TkR2k
Vo = ( > (k

2k 1 BT
22k7TR2k+1 <7T>k1 1 B 7T]€R2k+12k+1
2k +1 \2 (k-1 (2k+ 1)

Vo1 =

21 R?
Vo =
+2 n-+ 2

OO0 m

V,dboobooboooooboobobobobooooboboboboooooonoo

1.8 0000

1.8.1 0UO0OO0OOOOO

000000000000000 3000000000000 0OOOOOoOoOO? (020
gboo3tgbogoboogbboobbuoobbuobodbboobboobooobooobo
O0000000000oooo)

lim  f(z,y), limlim f(z,y), limlim f(z,vy).
(z,y)—(a,b) r—a y—b y—br—a

gooboooooboboooooboon

JoO000oOoOoooog

(2n —2)! 2n -1 7«
1271,—1:73 I2n:7'*
(2n — 1) (2n)!! 2
1
000002 Iy, 0oy = — - =, Inn_olon_1 = T poooooooood,=I,0,,000000
2n 2 2n—1 2
—1 —2 -2
Jn:InIn—2: & In—2' “ In—?): n Jn—2 oooo an:(n*Q)Jn—Q
n n—1 n
oooooo
T ™ T oo
I = 1="y -1, =1.5_-T
J1 = Iolq 5 2J2 112 11
goooooooo an:gDDDDDDDD

69



1.8.2 OOOOOOOOOOO

gboboboogobbooooboboooobobuoobobbooogn

lim [ fu(z)de = / lim f,(z)de (OOODO),
v

n—oo

Cdf . d
Jim g @ = 5 (

%/Qf(@x)dx:/gg(t,x)dx (D0DODDO00D)

gboboggbogobouogobuogbobbuoobboobobobboooobooooboo
oboboboobooboobooboobobboboobooboobon

lim fn(m)> (oooo),

n—oo

00 1.8.1 (00D0O0OCOCOU0U0000OODD) DODO0OODOU0DOOOUOOOOODOOOOOOd
0000000 (00ooooooooo)oooooo

Z/an(x) dr = /Qan(x) dz, Z %(J;) = % (Z fn(x)>

n=1 n=1

gbbooboodild m

DlBJOWﬂ]/DDDDDDDDDDD)

def. 1
flz,t) = @0

ooooo

t—o00

/Oo lim f(z,?) dx:/oode:O.l

t—o0
—00 —00

tlim / f(z,t) de = lim 7 =,

goo

Oo0o0o0o0oD im 0000000 bOO0OO0OO0ODOO0ObODOO0ObOOOO0ObOoOobDbOoOooDoD
gbobobmgboboogobobobod

70



1.8.3 O0OOOOOOOOOOOOO0

00 1.8.1(0000000000000) QCR™, f:Q—R",TCROO0{f,}ier O
0teTOOOD f:Q—>R'"000000000«0000000

(1) {fher 0 t—t, 000 f0 Q0000000000

VeeQ lim fi(z) = f(2)

t—to

gbbobouoooboboboooobo

2) {fither 0 t—t, 000 f0 QOOO0O0000O00OO

lim sup| f;(«) — f(x)] = 0

t=to ze

oboboboobooboobooon

«‘Jo0bo0oooboobooooboon

N J
000000000000

b 181 00000b000b0o0bo0obo j

Y

000000 (@U00000oDoo00000)0D000000DoDooooDoOoOOO

00 1.8.1 (00000000000000000) QCcR™ f:Q—>R"TcCR OO
{fher 00 teTOOD f:Q—>R"00000000000000000 f0 Q0
OD00O0{fher0 Q0000 fO0000000O00f0 Q0000000

gbboboooobbbouooobboboooon

4 N
00 1.8.2 (Weierstrass 0 M O00O0) {f,}lhen 0 QCR*"O000000ODO
H M, }nen s.t. sup | fu(z)| < M, and ZMn < 00.
e —1
DDDDDDDDDDDDDE}&DQDDDDDDDDD
n=1
_ )

1.84 0O0OO0OOOOOOOODOOO

O000000oUooo((@ooooogo)o

71



-~
00 183 (000000) Q0 R*"O0O0 Jordan O0000{f,her 0 QUOO0OO0
oooooobt—t 000 QLOOO0o00O00 fOObDO0ObDObOOOOO

tlLI%/th(x) dx:/ﬂf(x) dx

goooodg

HEN

() dx—/th(x dx

(f( ) — filx)) dx

< /|f )| dz

< smplto)- Al ‘/dx

€N

= u(Q )Suplf() )| —0. m

0000000000000 000000 (DOo0Doooboo)o

[
00 1.8.4 (000000) ROOD I=[eb 000 C-000000 {fi}er O
(1) {fiher 0 t—$, 00000000 f0 700000000

(2) 00000 {ffherOD t—t, OO0O0O0O0OOO g0 I0000O0OODODOO

0ooo00oooooo fOI0 Cc-000 ff=¢g00000

1.8.5 OOO0Ooooon

gbobuoooobbbuooobbboooobbbuoooobbob

72



~
00 1.85 (00000000,0000000000) A0 R*0000000 Jordan
00000/0 ROOOOK =AxI, f: AxI> (z,t)— f(z,t) e ROOOOOOO
0oooo (1), (2000000

(1) F(t)_/Af(x,t)de [ooooo

(2) %{D KDOODOODOO (00O f0 ¢-0000) Fecd'(I)O0DO
= [
F'(t) = T (z,t) dz
godgd
i/f(x,t) d:v:/g(x,t) dzx.
dt J, L ot
N /

00 000000000000000000007/000000000 [e,b)000000
gooboogogooo

() KOOOOOOooooooooD f0 KOODODODODODOODOOOOOOOVYe>0360>0

V(z,s) € KV(y,t) e K

() = (y,8)| <0 = [f(z,1) = f(y,8)] <e.
gog

[t —s| <d=|f(z,t) — f(z,s)| <e (ze€A).
goo

|F(7f)—F(8)|S/If(ﬂfat)—f(%S)ldﬂfS/dfCSW(A)-
A A

o0 FO I000000O0oO

(2) %D KO0O0O0Ooooo (1)000

def. 8f
G(t) = —(x,t) d
0% [ Gt da
O /0000000000000 000000000

/:G(t)dt = /:( A%(m,t) d:v) dt:/A( :%(x,t) dt) dx

- / (f(a.t) — f(a,s)) da
= F(s)— F(a).
000 F'(s)=G(s). 00000 F e Ca,b]). m

gboboogbboogobbooobboooobobuooobbouomboooboo
0000000000 (0D0000000D0)0000000000000O0O0O00000OO
O000o0oooo?0

¥OpODoOoO0ODDODDODDODO0OO00000ID0O0O000

73



O OA 0O0O00000oooogg

Al OOOO
Dodooodoooooooooooooodgo
(A 2

R"O00000000 KOOODOOooDOoOoobobobo Kobobooboobooo
O00000%000Heine-Borel 000 O)

“0000000000KO R"O00000000000R000000 {Ux}aea O K CUyep Un
D00000000000 Ay, ..., A\ €A000000KcU,_,Uy, 000000

N J
0000000000000 0000 (D00ooooOo0o0oooo0)0oooooooo
gboooodgn

(B)
R*O000000O0000DOCOO0O0OODOOU00ODOOOO0 (CODODUOODODOOOO
0000000000000 00O000000DOODOOO00ooOoooDoOOn)

gbooboooobobboooobboboooobbboooobbboo

O000:00000000000000001I000000(http://www.math.meiji.ac.
jp/"mk/lecture/kaisekigairon-1/ 000000 )000R"0OO000000ODOOOOO
0 0000000000000 (B)0OO0OO0O0002000000000 (A)0DO0o0Ooon0
00000000 (0000000000000 oooD)0ooooooooooO

gbogbobuogbbuodgogbooobobobooooobboobboobbodobo
gboogodbogobuoobboobuoobbuodgobobogboooboobboobo
00000000 [28|00000000

A.2 Hine-Borel 00 [0

Heine-Borel OO0 0O UODOO0OOOO0ODOOOOODOODOOOOODOODODLDOOODODO
gboogobuogbobogbbooboooobboobbboooboobobobooobo
gbbbuooobobboooobbbooodan

lK 0OOOODDOOOOODDOO0O0O0OKOOOOODOO0O0O0OKOOO0OOOO0O0O0oDooooooooao

D0000000000000000000000 Heine-Borel 00000000000 (DOOO0O0)O0O
O00000 Heine-Borel DO 00000000000 ODODODOOOOOODOOOOOOODDOOOOOO
gooooo

74



O0000000000000000 Cauchy D0OD0OO0ODODO Gouwrsat 0O00DDODO (DODDOO
O000000000D0OD0DO0O0O0)00000000000000000000000000
oboboboobooboobod

00 A.2.1 (Heine-Borel 0 00, Heine (1872), Borel (1895)) KO R*00000
D000000KOOOOOOO000000000000

00 O0000000{U}haO KOODOOOODOOOOOOOODOOOOODOOOOOO
00 KODOOODDOOOOOOOU,000000 (K00000 U,0000000000
0)00000000000

KDODDOOD ADODODDAODDDOOOOOOODOD 1200000 AY (€=
1,2,...,2")00000KnAY 00000000 100000000000000000 Uy
000000 (000000000 KOOOOO U,00000000000000000
0)0000000000000 KNAY 00D0D0K, 000000 AYooooooo 4P
(¢=1,2,...,2m000000000000000000000

KODKi>KyD---

00000 j00000K,00000000 U,00000000K,;0000 A0O0OO
1/ 000000000000000

0 K;000 2; 000000 {2,})00000K,0000 A0O0O0O 1/2000000
0000{z;} 0 Cauchy 00000000 R"O0000 « 00000KOOOOOOOODO
D0 acKODOOOODOOD jO0000 eck; 0000000000000
aeKc|JU,0O000D0OweU,, 000 eADOOOO00OU,, 0000000000
Blaje) c Uy, 0000 e>0000000

00000 NOOOOOKyOOOO e0000000000Ky C Bla;e). 0000

Ky C B(a;e) C Uy,

000 KyOoo 1o U, gboobodbgoboobooboibild m

A3 0OD00O0Ooooooobboboboooooon

00 A.3.1 (Heine (1872)) 0000000000 (X,d) 000000000 f: X —
ROODOOOO0O0OO

00 e«eX,r>00000 B(a;r):={z€ X;d(z,a)<r} 0000
fO0XDOODOOoOoOOooOooOve>0000000

VeeX 36,>0 Vo' € B(x:6,) |f(z)— f(@')] < %

OreXODOOOODOOD 6, 00000000000

U Bx:id./2) =X

zeX

75



00000X 000000000000 3,2,...,2 € X st
l

(A1) U B(;:6,,/2) = X.
j=1

§:=mind, /200006>000000y,2€X0 d(y,z)<600000

1<j<e

[f(y) = f(2)] <e

00000 (00000000 00000)000000 (A1)00 35 st ye B(xy;04,/2).

gogd
5. 6. by
d(z,xj)Sd(z,y)—i—d(y,xj)<5+7]§7]+7]:51j.
000 z€ B(z;id,). 000000 y€ B(zj6,,). 000

1) = FOI < 1) = Flapl+ (@) = fE < 5+ m

Heine-Borel 000000000000 (00000 (B)0OOODO

[D A31 R"O000D0O0ODODOO KDDDDDDDDDDDDDDDDDDDDDD]

76



0 OB 0O00000000000000

B.1 0O000O0O0OO0OO0OOO

(0000 (10,00 (24 000000000)
000000000000000000000000000

/

00 B.1.1 (00000000) D, Q0 R O0O000O00 Jordan 0O0O0OON O
w(N)=00000 DOOOOOOUD DOOO R"00000¢:U — RO C-0
0ooooo @), (i), (i)000000000o0

i) o(D) =0
(ii) det¢'(u) #0 (ue D\ N)

(iil) @|p\v OO0

Ooooboooboooog f:Q—-RODO00OO

| 1@ e = [ flo) et )] du
N D )

[
00 B.1.1 (DOO0O0O0OO0OO0OOO0OO0O0OO0OOOOODO) Q0 R*"O00O Jordan OODODODO
a € RROODOOp(z) =2z+a (x € R") 000000 p() OO0 Jordan OO0 OO

J
00 A0QCA° 000 R'0O00000O0O¢p(A) D RO00O0O0OOOOOOOOOO

00 ¢(Q) Cp(A).

A0D00D00 DA DO A 00000 Dep(Ad) 0000000000000 0000
A= (A A) €DA), A = {2\ }ocicy, (j= 1,2, ,n) DOODOOA = (A}, -+ A €
D(p(A) O A% = {28 + a;}0ci<e, j=1,2,---,n) 000000000000000

L(XQa Aa A) = L(X(p(ﬂ)a @(A% Al)? U(XQ> A, A) = U(Xap(ﬂ)a (;O(A)a A/)

oo
L(xa, A) = L(xp), P(A), Ulxa,A) = U(xe@), ¢(A)).

Q000000 L(xae, 4) = Ulxe, A) = () D00 00 DL(Xe@), $(A4) = Ulxew), v(4) =
p(). 000 o) 0000 u(e(Q)) =p().

77



00 B.1.2(0000000000O0O0O0ODO 0) BO R"OODODOOOOR"OOOO
O000000000000BO Jordan OO0 u(B)=0.

00 BOODOOOOOORMOO00 AOD BCA°DOOOOOODODOOO U(xg,A)=
opobbuoooobboooobon

OO00B 0 Jordan OO O OZ/dac:,u(B)DDDDDDDDDD
B
000000000000 n=200000000R?*0000 (D0OD)HOO100 1

000 (0000 y=pr+¢q000 z=ry+s) 0000000000000 OOOODOOO
Oy=fle)=pr+¢qO000000000000AD 2000000 A =[e,b00000
O ¢=min{f(a), f(b)}, d=max{f(a), f(b)} 00 00c=d0000000000c<d0O
goodoobooobobb e0bboon

2u(A’)

30>0 st. VeeA VMa'eA :|e—2|<d) |f(x)—f(2")] <

NODOODOODOOA O NOOO A = {z;}Y,01A] <é000000000
Al :=[z;_,,2,) 0000000000000 f(z;) 000000000000 [¢,d 0000
A, OD0OOA=A,xA, 00000000 A=][a,b]xe,d 00000

U A, 8) € 32 p(d;0) - 250 = gy D HA) =

000 Ulyy,A)=0000000000000000 U(xg,A)=00000 =

0 B.1.1 (0000000000 O0O000 (D0O0)0 Jordan O0) A O R* OO0
O0g e M(n;R), be R O00000p(z) =gr+b(x € R"), Q:=p4) 00O
O0Q0 Jordan OO DO DOOO

OO0 oQUD0O0000000000000000000000000000000 wu(02) =
0. 000 QUODO00000 m

00 B.1.1 (0000000 Jordan 000000000 OOOO0O) Q0O R*O0O
O Jordan 00 00,9ge M(n;R),be R*"O000000¢(z) =gz+b(xeR*)ODOO
O0p)0 R0 Jordan OO0ODODOO

g p(p(€2)) = |det g[ p(€2). )

HRN

Stepl. b=000 detg#00000000000O000O0O00O0O0OOO
00000 B11OOOO0O0OOO0OO Jordan OOOOJordan DO OODOOODOO0OObL=0
gbooooao

78



00 Imp =R(g)0 R*O0DD0ODOODOODOdetg =0000 dimR(g) =rankg <n O
O0me 0 R"O0O0OCOOO0O0O0OOODOODO QO R"O0O0O0O0O0O00Op(Q) 000
B1200000000 u(p(@)=0. 000 |detg|u(@) =0-u(Q)=000000

Step.2 000 R*"O0000O00O AQDOOO

1(p(A)) = |det g| u(A)

0000000000000 @0000 Jordan 0000 QO00000u(p(R)) = |det g| ()
00000)000000

QOO0 R"000000 Jordan 000000000000 e>000000000 (000
0000000) Ky, K, OO

K1 CQC K, p(Ky)—p(Ky)=pKy\K)<e
0000000000000000000
1(2) — e < p(Ky) < p(Q) < p(Ks) < p() +e.
D00e(K)) C () Cp(K,) 000
(K1) = LXem), 4) < Lxe@), A) < Ulxp) A) < UXpr) A) = pleo(K3)).

(0000A D o(K,) CA°00000000000)
000000 Jordan D00 |detg 0000000000000 Jordan 000 |detg| O
0000000000000

plp(Ky)) = [det gl p(Ky),  p(p(Ka)) = [det g| p(Ky).

ood
det g| (11(2) — £) < Lxpans A') < Ulxpion, A) < [det g (1(Q2) + ).
Ogooooo0 e>00000ooooooogon

L(Xp@), A") = U(xp@), A) = |det g| 1(£2).

0000 () 0 Jordan OO0 pu(e(2)) =|detg|p(Q) DO0O0O0O0O0OO0O0OO

Step 3. JU00D0O0OO0OOOOO0ODOODOODOO

00 B.1.3 Q0 R"000 Jordan 0000O0ED n0000000Y(x) = Ex (z € E)
O000000v%((Q) 000 Jordan OO0 p(y(2)) = |det E| p(€2).

g=FEE,---E (E;00000)000000¢;:2— EzO0000p=1t10tp0---0
0oooon

n((Q2)) = |det Ey|[det Ep---[det Ep| u(S2)
= |det(E1Ey - - Ep)| p(Q2) = |det g| u(€2).m

79



obobboobooboobooobo sbgoboobobbobooboobon
1

1
0 1
1
(B.1) P(i,j) = (e # 7),
1
1 0
1
1
1
1 a
(B.2) Q(i, j,a) = R (i #j, a €R),
1
1
1
1
(B.3) R(i,c) = c (ceR, c#0).
1
1
[DD B.14 000 geGL(n;R)D000000O0ODOOOOOOOO0OO }

b dbhbhooogbobuoobbuoobbuoobbuogbbuoobbuoobbobogon
gbbboooobbbuooobbbuoooobbbuodblm

00 B.1.2 A0 R"O000O0¢00000 ((B1),(B2),(B3)00000000)0
00000

(B.4) p(p(A)) = [det gl u(A), »(z) == gz

O0:000 A=lar,bi] x[ag,bo] x -+ X [ay,b,] O Jordan 000 [[;_,(bj—a;) 0000 (OO
000000000000 Jordan 0000000000000 DOOOOOOOODOOOO)O

80



0o

(1) g=R(i,c) 000000 i0000000 | 0000000Jordan 000 |¢| 000
OO0detg=cO0000|=|detg 00000O(B4) 000000

(2) g=P(i,j) 00000p(4) 0 ADD 000 ;0000000000000 0u(e(A)) =
1(A)0000detg=—-1000 |detg=1000000(B4) 000000
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/Df(@(u))\detgp’(u)|du—/ﬂf(:c)d (/ flp(u)) |det ¢’ (u \du—L(K)f(x)dx>
+

F(p()) |det f ()| du — / f(z) de
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OO0 P,Q,ROOOODOOO QUOOOOO

@< [ 7o)l et (u)] du < MCu(D\ K) < 5.
D\K
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gooooooobbn

1. 0eF

2.

3.
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1. VAe F0O<m(A) <oco. OO m(0) =0.
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A Be F,AnB=0000 m(AUB)=m(A)+ m(B).
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